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Quiz #1

1. Joe and Maria both produce pencils (P) and notebooks (N). They each have linear production
possibility frontiers. You are told the following information about their production of these two

goods. Joe can produce a maximum of 20 pencils or 10 notebooks. Maria can produce 15 pencils
and 5 notebooks or 10 pencils and 10 notebooks.

a. (1 point) In the space below draw a graph representing Joe's production possibility frontier
measuring Pencils on the vertical axis and Notebooks on the horizontal axis. Identify the numeric
value of the intercepts of this PPF. Incompletely labeled graphs will not receive full credit.
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b. (1 point) In the space below draw a graph representing Maria's production possibility frontier
measuring Pencils on the vertical axis and Notebooks on the horizontal axis. Identify the numeric
value of the intercepts of this PPF. Incompletely labeled graphs will not receive full credit.
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c. (1 point) Write an equation in slope-intercept form for Joe's PPF with Pencils the variable
measured on the vertical axis. Write an equatlon in slope-intercept form for Maria's PPF with
Pencils the variable measured on the vertical axis.
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Equation for Joe's PPF: | = 20 ~ 2.\ N = Neke b 00 f

Equations for Maria's PPF | A [




d. (2 points) In the space below draw a graph of the joint PPF for Joe and Maria measuring
Pencils on the vertical axis and Notebooks on the horizontal axis. Identify any intercepts as well

as coordinates for any kink points. Then write an equation or equations for the joint PPF being
sure to identify where necessary any ranges.
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e. (1 point) What is the range of trading prices in terms of notebooks that is acceptable for 10
pencils? Use the number line approach from the lecture to represent this trading range and make
sure your answer indicates Joe's perspective as well as Maria's perspective clearly.
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2. (2 points) Lindsay is a candy maker. Lindsay can produce 5 dark chocolate truffles in one day
if she receives 3 dollars. It is also known that, for each extra dollar received, Lindsay produces a
third of a dark chocolate truffle. Write an equation that describes Lindsay's offer of dark
chocolate truffles (T) in terms of dollars (D). View T as the variable measured on the vertical
axis. Show your work.
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3. (2 points) Which of the following statements is true? i 12 Lll

a. If we shift the line y = 3*x — 10, two units to the right we get the line y = 3%*x — 8.
b. If we shift the line y = 3*x — 10, two units to the right we get the line y = 3*x — 12 and the equation in
x-intercept form is x =4 + y/3.

@Suppose that the supply curve is initially given as Q = (1/3)P — (10/3). If the costs of producing the
good increases by $4 per unit then the new supply curve is Q = (1/3)P — (14/3).
d. Suppose the line y = 3%x — 1 shifts 3 ;?rllt% to the left. This new line intersects the line y = 2/3 — x/5

when y = 10/3. Y L3 3
B %"0
’ &

&, Y$'3X’FU
4%

23X-§
, / Fard . il e X
7 A% s € /}fﬁfﬁ}y /67[% 4ﬂdﬂr/‘3/5#/ g (A)/I 774 7Z-r e

}9 j:J‘X‘HU

7: BX’!U ﬂ??x—lz"
" Y
\/:3')('/1 % 4 s édff/}?%%% V:j‘f‘
-~ O 3 I/C Jn/y /J Uf)fl/J“,/
=12 _—_;l_—i“\
ffy';o £ fd;zggf(—/() . :’(‘(zf_’é.:’/_é_?(y (6);.)’/’30%74’“6 )<
0 =X THETFTN 3
’ s
v - <75 0 ,.;_?X‘/l I Ydad
’/[}‘ d /2 =3X S il
R S
c. §= 5P 5 o Joply el (o) s hme /
o] =
-.’:3 P= @ 7 -/'}, &qé{fﬁfﬁcre /% 3
f : 3@ + /0

10 O s n P
&/ = /
Wi Cd%czu—f,/
=375 |



/(/éw/f'ht
/ﬂf‘ﬁA/A’ij

]
/
3
e R ) 2 il 2 /ef * °//)°"75'\‘//"”'f S X - hfereep? o 7%”5/4"«
,% = & 7’71"‘%' /icw/rhe
)/;?X # ¢
Mﬁ’b@wn/aﬂf ("%,0) -A,ﬁnd V23
0 = ’3('%7)+ ¢
5=
' 2 <l
N lhe /' sX 4 5
%ﬁ»f:méwoﬁer /,N_),, = ~ 5
/}f = % = X vale 94” New /e
9]
5 ["(73; s R /'S-j

Jo 7 27 %K 7Z@R 2 /ther Cfo'_/‘._{f_r"
Ihtweect whea y= 05
—¢0 :
*f[’f}]: 3 Sinee Therr X values ‘
Wa[l}[ﬁ,t‘—fjélr’ This
fiven v va /i
(d)irno? Prae X




